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item groupl vars n| mean sd median trimmed mad min max
xX11 1 2020 131 14.41935 6.10341 14 13.92 5.9304 6 31
X12 2 2019 1 31{27.90323 15.29129 26 26.44 16.3086 9 66
range skew kurtosis | se
x11 25 0.6516209 -0.04109016 |1.096208
X12 57 0.7990436 ~0.42509914 |2 746397
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» s=0HAd (var.test)

F test to compare two variances

data: co$EDMMA by co$1@E
F = 0.15931, num df = 30, denom df = 30, fg:
alternative hypothesis: true ratio of varjiances
95 percent confidence interval:
0.07681741 0.33041032
sample estimates:
ratio of variances
0.159315

data:
t=-4. 5598 df = 39.322, ;p~va1ue = 0. 00004898u
alternative hypothesis: tFﬁe—ﬂ Prrerande "M "meanhs is not equal to O
95 percent confidence interval:
-19.463577 -7.504165
sample estimates:
mean in group 2020 mean in group 2019
14.41935 27.90323
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‘data.frame’: . of
$ X|¥Y: chr
s = : int
$ FE : int

vars n/| mean
1 26 13.50 [7.65 13.5
2 26| 5.5817.37 4.5
326|1.35/1.47 1.0

vars n mean
126 -4.23 7.46 3

» SHEA (t.test)

Paired t-test

data: b$¥ and b$%y

1
t = -2.8925, df = 255 p-value = @.0078064
alternative hypothesTS ™t Ue™dITFer&Nce®™ in means is not equal to @

95 percent confidence interval:
-7.243198 -1.218341

sample estimates:

mean of the differences

-4,238769

X N5 1a|C7|zlL_U1| S
M HA|E )| 2EHHE |~Ha
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sd median trimmed mad min max range skew kurtosis
13.50 9.64
4.27 3.71
1.14 0.74

e 38 38 3.22 11.51

sd median trimmed mad min max range skew kurtosis se
3.09 4.45 -37
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'data.frame': 150 obs. of 3 variables: +1 Boxplot= Soll A9 (LHA, 2 i I:I &
$ XI¥Y : Factor w/ 5 levels "4+ ,"HF",..: 1111 A SAL HIE. [HR2)2 1
111111 ... ‘ " = AfAIS O ! [D 5
$ $&X: int 2302201761 ... s A= — { . . :
$ @ : chr "2020.11.01" "2020.11.02" "2020.11.03" > QUL - TPy - - "
2020.11.04 : TR ———— |
2 - P 1 B
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item groupl vars n mean| sd median trimmed AMO= 2 T g!J-! S = EHAIY {
x11 (47 1 30[1.933333 (1.779836 1.5 1.6666667 Ol HigH &1+ SHEIAR | ESRT e | -~
x12 2 AT 130 0.700000 1.087547 0.0 0.4583333 0| LIRSS o 2 QICH | & = e
X13 &A1 30[1.233333 [1.906130 0.5 0.8333333 i - =
X14 3T 1 30 6.800000 |5.950369 5.5 6.1666667 )
X15 Y= 1 30/ 2.066667 3.095417 1.0 1.3750000 i
mad min max range kurtosis| !
X11 1.4826 0 7 7 1.1255510 0.7744945| 0.3249521 1
x12 0.0000 0 4 4 1.5206339 1.3998530| 0.1985580 '
X13 0.7413 0 8 8 1.9871288 3.7851693|0.3480102 !
X14 5.1891 0 22 22 0.7325849 —0.3651894\1..0863839 ¢
x15 1.4826 0 13 13 2.0436887 3.8497427|0.5651433 | 1 STITEe B 36 Ee B_vo
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ZZ(Bartlett.test)
Bartlett test of homogeneity of variances

p =
=)

data: %A by A9
Bartlert's K-squared =.96.225,, df = 4,
p-value < 0.00000000000000022 I 3

> S=40HZd(Levenelest)

Levene's Test for Homogeneity of variance (center
median)
Df ¥ valuel

group 4 14.358 ,0.0000000006729 §
145 R s -

Signif. codes:

QL SRwR2 Qo000 SR*0S0T Sx DI05 S

one-way analysis of means (not assuming
equal variances)

data: a$=ZlX} and as$X|¥
F =9.7863, num df = 4.000, denom df =

68.917,;p-value = 0.0000025031#/
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data.frame': 75 obs. of 3 variables: _ S
$id :dint 1234567 8910... ‘1 Boxplot= Soll Mglﬁ HelE7| o .
- - e o Py
$time : int 1111111111... S 2':211 D‘?:__UHQ?.
$ count: int 11 15 22 35 33 44 24 14 21 14 ... ZDHI HALS QeI S
oIUSE & & UL
: o |
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item groupl vars n| méEfﬂ sd median ¢ 3
1 A8H 125 23 84 .LO 502698 22 ] o | 0
2 17H¥ 1 25 (13.12 | 5.238638 11 2 :
3 274¥ 1 25| 2.44 | 3.042477 1 e !
trimmed mad min max range skew
23.285714 11.8608 10 44 34 0.4056506 O - -
12.904762 2.9652 6 23 17 0.6693798 I [ I
1.952381 1.4826 0 11 11 1.3174914 . i 12 18
kurtosis | se| AR NHEIE I A s ‘e
-1.0434645 }2.1005396
-1.1109783 [1.0477277 : fime
0.8276516 0.6084954 .
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» F8d dd8(Mauchly’s Test of Sphencity)

Univariate Type I1I Repeated-Measures ANOVA Assuming Sphericity

Sum Sq num Df Error SS den Df F value )
24 267.495 0.00000000000001627]
48 58.031 0.000000000[}0015474:

(Intercept) 12936.3 1 1160.7
time.f 724.5 2367.5

(Intercept) *#*
time.f x%

T 4
Swgn1f. oA ) ERL LR R 1 SAE LAY 1) B S A LRI | B et e |
4
¥ 4

.. ’
Mauchly Tests for Sphericity /

A . /
Test statisticy p-value l'zfv)
time.f 0. 6??5919 004)987

Quizk ANOVA 2A
Error: id

Df Sum Sq Mean Sq F value Pr(>F)
Residuals 1 92.31 92.31

Error: id:time

Df Sum Sq Mean Sq
time 2 4163 2081
Error: wWithin it/

Df Sum Sq Mean Sq F value '™ ~ Pr(>F :

time 2 1584 792.2 16. OlIO 00000]94|
Residuals 69 3413 49.5
Signif. codes:
0 “***' 0,001 ‘**' 0.01 ‘*' 0.05 “." 0.1 “ ' 1
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At A& (TukeyHSD)

Simultaneous Tests for General Linear Hypotheses

Multiple Comparisons of Means: Tukey Contrasts

Fit: Im(formula = count ~ time, data = ccc)

[Linear Hypotheses:

| Estimate Std. Error t value Pr(>|t|)

HE - d43 0 -10.72 1.98 -5.414 <0.00001 *#*
224 HAHEH =0 21.40 1.98 -10.808 <0.00001 ***
RAE - 1% == 0 -10.68 1.98 -5.394 <0.0000]1 #***
Ssignif. codes: 0 *#*#**' 0,001 ‘**' 0.01 **" 0.05 '." 0.1 * ' 1
(Adjusted p values reported -- single-step method)
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header TRUE

na.strings

> )12 SHX| 20!

mean| sd median trimmed mad min max
49.00 27.39 49 40.00 29.65 (%) 80
5796 5649.11 3313.61 1462 8315
68.00 8.90 e 315

vars ﬂ'
o 19
=} LI} 2 9 5849.11 [2592.03
AYAt 39| 68.00 | 111.72 6
range skew kurtosis se
80 e.ee -1.68| 9.13
6853 -0.10  -1.84 |864.01
315 1.22 -0.11)| 37.24 |

ad
SHFIA
A A

Analysis of Variance Table

A9 7} o
Df Sum Sq Mean Sq F valuej Pr(>F) 1~
A3 1 66733 66733 14.16610.607114 *
Residuals 7 33117 4731

Response:

Signif. codes: @ “***’ 9.081 **’ 9.01 *’ 0.85 *.’ 0.1 *’ 1
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glm(formula = AFEXl ~ Qi, data = death)

Deviance Residuals:
Min 1Q Median 3Q
-76.35 -60.70 -1.30 32.65

Max
113.60

ggﬁ:fisisq£§:

Estimate Std. Error t value -P-r.(‘>ﬁ |T
(Intercept) -65.400 42.276 -1.547 ©.16579

cxxs

Signif. codes: @ “***’ g.e@l 9.01 *“*% 08,85 .*9.1 ** 1

(Dispersion parameter for gaussian family taken to be 4738.95)

99850
33117

Null deviance:
Residual deviance:
AIC: 105.44

on 8 degrees of freedom
on 7 degrees of freedom

Number of Fisher Scoring iterations: 2

Non-constant Variance Score Test A
Variance formula: ~ fitted.vajuwes — =

Chisquare = 1.246555, Df = 1,.jp e.26421l

Shapiro-Wilk nmnormality te=t

= . .‘/’ /
: death modeldoesd diitd S w1/ 1
©.9a4285 .| p-value = ©.6122,
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AMRIA HARS I AR ALAS, LI0I, 7I2AIRES 9 A8 0
IJ,PWIE SHOIgHE AL SITE (AIRIA ZZE 20 al2I™ AL Te= 508 BHEOICH

— = =
Sl » SAIAE 2| HEA
TS|} RIS AR H2EAQ X
Ll’g "!" "!X‘" 1OK—I_'_"'} 3?;21.’ormula = chun —~ phy + psy + ago + bron, family = binomial,
I s )l 9SS 2
—
i Is:
A QUHATETN-0602 25 IR e
: : 1 H TFHIOIN| 80 < o deliebe P : o
n| mean sd median trimmed mad min max range skew kurtosis Olg?— ‘—-'}HIE“ J‘:’}nIDUl ‘—’I%-'IL—’H CoaTTICTantel s e wa, // S or = e e T lzl)! !
100| 34,320 .26 33 35.56 10.38 3 4% 46 -0.72 -0.78 -
U5 7 > L T ol % = = CInt :3913. .30790 4.218 [0.00002461 _*
el IR e S i G B 0 ZRIAE| SI22M 23 QOjorE geeeolbigh e bRy
100140 0. 138 0,00 1 1 040  -1.86 (P<0.05)0| AMRIZAZE 2, Ad bronves sy SR SR fiel
/\‘I)‘])I’7"|/\O! l:i-1/\7|» ch‘l—- § ] sioniT. ¢ s Q swwwse : *w** 0.01 **" 0.05 *.* 0.1 *
OO 040'0 = (Dispaersion paramaeter Tor binomial Tamily rtaken To be 1)
U“ 'I“l‘-—lul A= [:l Null dev1ancef 134 602 on 99 degrees of freedom
£ ) AIX.I|X"7'|7"X'1A7|>_‘3;OI>X| 'z:zjdzgljg:v1ance. 39.384 on 95 degrees of freedom
= ‘5!.5_!8 U 7HH LHE'?}E 8’- Number of Fisher Scoring fterations: 7
At S 9o 2ei0) 2

E Al%g 7|1LXI 7\!!:140 OgOI»E

amEzz | T .. ng ) 245810 O*L’AE*HD:’QL 5}
= | e el e 5012 EiE0I 1,06 SOt

oo | o A=

| Zoomsuussumioniy N )
" woT A ZHUKAD 712K AlE ASI| Estinate Std. Error z.value Pr...2.."

el L  XIZHH0E & WO oI (Intercept) 13.95388
: | KA {f e L 0IZM TSt EERIS =7 QIFHA phy -0.33091  0,06799 -4.86684 0,00000,
J = AIFIA A2 B 712012, psy -0.11960  0.07966 -1.50131 0,13328!

L2e2 B i e 2R AR0I e AR 20,0370 0.03605 -1.02658 0.303674
ol SO 5| ZO[H0F BT, bronves  0.675% 086870 0.77815 0.43648)










